1. 200 +22x+ A = (4x+ B)(Cx + 3) & W], ABC 9] gtozg dure
AL WY

® 40 @60 ® 70 @ 90 ® 100

B )

(4x + B)(Cx +3) = 4Cx? + (124 BC)x + 3B
4C=20, .C=5

12+ BC =22, .B=2

A=3B, . A=6

.. ABC =60




op

@ x> +3x+2

@x2—2x—3

@O x2-2x-38

® x2-3x+2

@ x2-x-2

B

(x+2)(x—4)

O x%-2x-8

(x=3)(x+1)
(x+1)(x+2)

(x+1)(x-=2)

@ x2-2x-3

®x®+3x+2
@ x>-x-2

@ x?-3x+2

(x-1(x-2)

@

ol
K

)
i

Al

%

WA (x-3) & 52




3. x—47}F R 22 4 ax+40, 3x2 - 10x+ b 8] 521 214 o,
a-b 9 3F& FolH?

@ 3 @ 6 ® 0 @ -3 @—6

B )

x? +ax+40 = (x - 4)(x - 10)

La=-14
3x2—10x+b = (x—4)(3x +2)
Sb=-8

ca—b=-14—(-8) =6




the 1%e) RE A7y
o wol o] gt yol7t 2

o ANl hro o]
o A|z29] o] o] e

L= L= F
;|
H
3
—

O 2x @ 2x+1 ® 2x+2

@ 2x+3 @2x—|—6

Holo] &2 %2 +6x+5=(x+5)(x+1) °|BEZ
W] 2ol7} 242} x 1 5, x + 191 AAZIGolet,

webA ok Al o] $E 21+ 6 o]t




® x-3

@ x+3

® x(x-3)

= x(x+3)(x—3)

x(x? - 32)

x3 — Ox




6. x2-94+2xy-3y S JAFES5HA?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x=3)(x=3-y) @) (x-3)(x+3+)
® (x+3)(x=3+y)

‘ (x+3)(x=3)+y(x-3) =(x-3)(x+3+y)




(2x=5)(x=3) - (3x+2)(x-3) & <A

D (x+3)(x+7)

@—<x—3)(x+7)
©® (x=3)(x+7)

gl

shei?




oFe ¥rel] ol 48 W Hstolet.

362+ Jc—96=3(x+4)(x+[_))

cCh "
| —

| 2
> = —20

B

3x% + Ax — 96 = 3(x + 4)(x + B) 2 3}

3(x+4)(x+B) =3x2+3(4+ B)x+ 12B
=3x2 4+ Ax—96

12B = -96°)|A B = -8

A=3(4+B)=-12

A+ B=-20




9. OS2 HEINMa-b-c+d 2 S Ttz

H7]
@ x> +2x-15=(x-3)(x+a)
© 2x* +10x+ 12 =2(x+ 3)(x + b)
© (x+c)(x—c)=x2-9 (c>0)

® —2x2 - 16x—32 = —2(x + d)?

[
H -

>
l> XMekr oy

oH =

B

@D +2x-15=(x-3)(x+5) ~a=5

©2x> +10x+12=2(x+3)(x+2) .b=2

© (x+3)(x-3)=x>-9 .c=3

@ —2x?-16x-32=-2(x+4)? ..d=4

et a=5 b=2c=3,d=4°E2 a-b-c+d=4
o},




10. o= T"Ho AAF2 Wol7t § = 46® + Ta + 3 ]2l 07t 4a + 3

d o, 2rio] dol?

4a+3

D 2a+1 @)2a + 2 ® 2a+3

@ 2a-2 ® 2a+4

~&B ~

1
S=4a2+7a+3=§x(“£‘ﬂd)x(4a+3

~

8a% + 14a + 6 = (4a+3)(2a +2) = (UH) x (4a + 3)
et WO o= 2¢ + 2 o]t




11.

(x+y)(x+y+6)+9 5 2

filo
©
op
_O|L
2
e
4
A
:cé
_O|L
=)

~

@(x+y+3)2 @ (x+y-3)?
® (x-y-3)2 @ (x+y+3)(x+y-13)

® (x+y+3)(x-y-3)

B

x+y=A & X5

(£4) =AA+6)+9
=A%+ 6A+9=(A+3)?
= (x+y+3)?




12, (2x-1)?-9 E 59l 5t a(x + b)(x +¢) = YEPE o, be —a
o] gk= F+stofet

> E:

> He: be—a= -6

B

(2x—-1)2-9 = (2x—1+3)(2x—1-3)
= (2x+2)(2x—4)
=4(x+1)(x-2)
=a(x+b)(x+c)

a=4,b=1,¢c=-2

Sobe—-a=-2-4=-6




13. 4x% - 24xy + 362 — 16 & F 432 Fo g
A2 o g ool

(—,7._‘—/:}) :4(x2—6xy+9y2) - 16
=4(x-3y)*-16
= (2x-6y+4) (2x— 6y —4)

© (2x=6y+4)+ (2x—6y—4) = 4x— 12y




14. x=1+ V3o, 22— 203 o %L Fatoial.
=

>
|> b= -1

od -

B

x—-1= V3022

x2—2x—3:(x—1)2—4
— (V3)* -4
=—44+3=-1




15. o2 oA kA EA 0 7 e Hgolt)h. A,B,C.D %
W 2 ot 7P &2 o) AHE Fetelh (D> 0)

1 1 1 ’
Q ZX2+§X+A: (_x+B>

© 9%+ Cy+25= (Dy-5)°

\VARR 4
0
L

33

12+ tita <1x+B>2 it
45 T3 2
1 1
—BX2=—-,B=—
2 3’ 3
A= B2 O]E_E._Azé

© 92 +Cy+25=(Dy-5)20|B&
D=+V9=3,C=-5Dx2=-10D=-30
wetA 7 2 =3, 7P AL = 30
J3E2 3 - (-30) = 33 °|t}.




16.

@ (x—y+4) @ (x+y-4)?
® (x—y-2)(x+y+8) @) (x+y-1)(x-y-1)
® (—x—y+4)(x—y+4)

B

x+4=rt2totH

(t+y)(t—y) - 16x

=12 —y2 - 16x

= (x+4)% - 16x — y?

x% + 8x + 16 — 16x) — y?

x? —8x+ 16) — y?

4)2 —y?
—4)(x-y-4)

X

= (
= (
:( —
=(x+y




17.

@®—b? = (a-b)(a+b) VL B3] 12-32 45272 492 112 +
132 — 152 + 172 — 192 & AAtsA?

D -100 @—200 ® -300 @ -450 ® -540

B ~

12-32 45272492 -112 4132 - 152 + 172 - 192
=1-3)1+3)+GB-7B+7)+---+(17-19)(17 + 19)
=-2(14+3)-2(64+7)—2(9+11) —2(13 4+ 15) — 2(17 + 19)
=-2(14+3+5+---+17+19)

=-2X5x%x20

= -200




18. x=V2-1¥, 6(x+2)2+5x+2)-6=a+bV20|tt a-b 9

2 Tstofet.
B

[ 2
> HEE a-b=0

B

6(x+2)2 + 5(x +2) - 614

x+2 =12 2gs51H

612 + 5t — 6 = (2t + 3) (3t - 2)
t=x+2=V2+10°]B& o] hYstH
(2v2+2+3) (3v2+3-2)

= (2v2+5) (3v2+1)

=124 17TV2+5=17+172
et a=b=17°BE2 a-b=0




19. F A AAS a o ] x° —x—a 7F A5} ol B
T A Y] wo g Qe EalH S 3t o 9 TS 7ot

=i 7H

>
> &g A

B

¥} —x-a=(x+n)(x+m)olZstA (&, n>m)

n+m=-1, nm=—a

o], 10 < a < 100 °|BE2 nm < 0

= n>0, m<0°]1, -100 < nm < —10 ©]t}.

o] TE5t=n, m o £ARS Fo|EHA

(3, —4) (4, =5) (5, =6) (6, =7) (7, =8) (8, =9) (9, —10)
et a =

12, 20, 30, 42, 56, 72, 90 2] 7 7jo]ch.




20. oA x(x+3)(x+4)(x - 1) + p 7+ FAAFA 0] HEF Sh= p 9
= Fstofet.

> E:

> He: p=4

B \

x(x+3)(x+4)(x-1)+p
= (2 +3x)(x2+3x-4)+p
X2 +3x=A 2 x5}
A(A—4)+p=A2—4A+p
A2—4A+p=(A-2)?
Lp=22=4




